180 mm

130 mm

- Regularly check the tightness of bolts and tighten as necessary.

- Check for damage which could render your rocker unsafe or cause splinters.
- To clean use a soft cloth, avoiding the use of strong detergents or abrasives.
- An occasional light application of a wax polish will help maintain a good

appearance.

Safety Warning

- The rocker should always be locked when the child is unsupervised.

- Young children should not be allowed to play in the vicinity of the rocker.

- The rocker should always be placed on a firm and level surface.

- A mat size of 100 cm in length and 560 cm in width is suggested

- The thickness of the mattress should be such that the distance from the top

of the mattress to the top of the rocker sides should not be less than 20 cm.

- Do not leave anything in the rocker or place the rocker near items, which
could provide a foothold or present a danger of suffocation or strangulation.
- All assembly fittings should always be tightened properly and fittings

should be checked regularly and re-tightened as and when necessary.

- Be aware of the risk of open fire and other sources of strong heat, such as

electric bar fires, gas fires, etc. in the near vicinity of this rocker and do not
place it near windows or other furniture.

- When the child is able to sit, kneel or pull itself up, the rocker should not be

used anymore for this child.

Imported & Marketed by Customer Care No.:
Brainbees Solutions Pvt. Ltd. 02030556310
Corporate & Registered Office Address: E-mail:

Rajashree Business Park, Plot No: 114,
Survey No. 338, Tadiwala Road,
Near Sohrab Hall, Pune 411 001

customercare@brainbees.com

Customer Care Address:
Same as Importer’s address

Made in China

Carrying Capacity fge Group \

Upto20Kg | 0to 36 Months

Florence Wooden Rocker Cum

Style code - NUBF023

baby furniture

® Rocking Function @ 3- Level Height Adjustment

@ Wheels For Mobility ~ ® Storage

Please read the instructions carefully before use and keep this manual for future reference.




i

e —_'_,"—#"'4

Bed Board : 1 Foldable Side : 1

I ] M T

Fixed Side : 1

Head Board : 1 Foot Board : 1

=3
it

Storage Board : 1 Extension M6*35 mm M6*35 mm Storage Board
Support Bar: 2 Bolts: 11 Club Bolts:2 Hooks : 4
! ! o == ==
E — < «’"\II ﬂ—\ll z“--:I —_— —
—_— O
Bed Board Brackets Caster Wheels: 4 Caster Wheels Spanner: 1

And Screws : 6

Assembly Instructions

*-----_"-.-'

« As shown in figure 1, bring the straight
side boards, the head and foot boards
together and join them with 8 M6*35 mm
bolts

Blind Nut: 4, Bolts : 4

« As shown in figure 2, fix the foldable side
with the head board

v

e As shown in Figure 3, install the
extension support on the head board.
Install the lower end of the supporting rod
and fix it to the elbow of the moving track.
The upper end is fixed with M6*35 bolt

« As shown in figure 4, fix the storage
board hooks on the lower part of the side
boards.The hooks are designed to hold and
support the storage board in place. Lower
theboard on tothe hooks

» As shown in figure 5, the bed board has
to be placed above the storage board.
Place the bed board brackets and hooks as
indicated in the figure. Lower the bed
board onto the hooks

T

»Asshowninfigure 6, fix the caster wheels
on to the foot of the rocker with M6*30 mm
bolts. Use the spanner and cross
screwdrivertotighten the boltsand screws

- Fold caster wheels to use as rocker




